RED 00'(#
R <
<

REAR WINDOW MOLLE PANELS

(2007-2018 WRANGLER JK - 4 DOOR)

INSTALLATION INSTRUCTIONS

CONTENTS

LH Molle Panel

RH Molle Panel

LH ‘L’ Bracket

RH ‘L’ Bracket

Rubber Strips

M8x1.25 x 25mm Allen Bolts
M6x1.00 x 15mm Allen Bolts
M6 Flange Nuts

[

4

—— — p— p— p— p— p—

TOOLS REQUIRED

T-40 Torx Socket
4mm, 5mm Allen Sockets/Keys
Ratchet

SKU # J166730
Edited: 03/11/2022



’
REDROCK:
z

STEP1

Remove (3) T-40 Torx bolts from the side of the hard top.

Note: The hard top bolts will be reused.

STEP 2

Install (2) rubber strips along the upper corners of the molle panel.



’
REDROCK =
z

STEP 3

Place the molle panel to the vehicle hard top, and loosely secure the panel to the hard top using
the original (3) T-40 Torx bolts.

STEP 4

Un-zip the upper roll bar cover to reveal the metal roll bar. Locate the (1) threaded insert in the roll
bar.



’
REDROCK:
z

STEP 5

Align the (1) ‘L’ bracket to the roll bar and loosely secure using (1) M8 x 25mm Allen bolt. Loosely
secure the molle panel to the ‘L’ bracket using (1) M6 x 15mm Allen bolt and (1) M6 flange nut.
Adjust the bracket and molle panel as necessary for best fit. Tighten all hardware.

STEP 6

Repeat steps 1-5 to the opposite side of the vehicle.

Installation is now complete.



	J166730 - RedRock - Rear Window Molle Panels; Pair (07-18 JK 4 Door)-01
	J166730 - RedRock - Rear Window Molle Panels; Pair (07-18 JK 4 Door)-02
	J166730 - RedRock - Rear Window Molle Panels; Pair (07-18 JK 4 Door)-03
	J166730 - RedRock - Rear Window Molle Panels; Pair (07-18 JK 4 Door)-04

